2% ofoulaic] 85 1 b2 e

, 980, 2100

& UaEA

© OaYE 7|

& 2AZ7 F=80]

@ oI-E|:||.E'. I':L _%_I:IX-IQ_

= o @) EI.OI
TaTT He

@ 00174 7| 2LHE

YCMW [ LB

-

é)(‘z)@@@@

@ Algl= @ ARIE BEE AERT @ LEAYR|
YCMWARIZ : 55 425 040 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, D-AQAK : QEAQIX| HA}

(OFZUIE, oflofT4d 7 2Lt
Q@ xxg+

2|5 7|2

@50

763

350, 400, 450, 500, 600, 700, 800, 900, 1000
25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
350, 400, 450, 500, 600, 700, 800, 900, 1000
25, 50, 75, 100, 125, 150, 175, 200, 250, 300,

D-A%MX : 2MAl 2HH
D—-AMX-N : 314! Ere NPN

= T e

D-AX-P : 3MAI 2HE PNP

1B : =HEEIES 350, 400, 450, 500, 600, 700, 800, 900, 1000
FA : 2E= SUX[H @80 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
FB : 5|== ZaX S 350, 400, 450, 500, 600, 700, 800, 900, 1000
TC : MIE{ERLIRI @100 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
350, 400, 450, 500, 600, 700, 800, 900, 1000

6 Raz7
Y24 HE RRIE
I 182 RRIE

REAQIR| F7|S
2|s : 2HRE
S B&
N @ N7H S22F

(OF=I=18 P2

: 221 LHE 40mm

- Al2IC| L1Z 50mm

: Al2IE LHZE 63mm

: AR LHZ 80mm
100 : A2IE LHZA 100mm

CRARSES

@ HIIEOX |=|i|‘
U Uz efEe) (m)
4 LUZ EfERIS)

¢ QEAQIX| ZH

o 23 AR 2

= 5 e At = Atk
D-A%4K PRSI DC5~AC230V | R QEA| YCM—(@)-LB S REH XXIZTF
D-A94X 2,QMeHH DC24V 2 EE(NPN,PNP) YCM—(@)-FA ZaIsE Zalx|E X|X|27
D-CB-8 40 AQJx| e YCM—@)-TC E2iL|o g+
D-CB-8 50 AQIx| Hap YCM—(@)-TP EafLdl ghEigT
D-CB-8 63 AQIx| a3 YCM—(@)-Y 20 H2RQIE
D-CB-12 80 AQx| 22t YCM—(@)H 1A HER0IE
D-CB-12 100 A9IX| 222l

% QEAQIX| IZHE : D-AMK : 1M, D-A%4K-L3 : 3M, D-A94K-L5 : 5M

124 YPC



59 yoigzn 55: 92 YCMW

¢ XN Z A

A 55 Y=C
NS SV L =Y A
| MALRO 0.1MPa(1 kgf/cm?)
| TAIRR 1.0MPa(10 kgf/cm?)
| ot 1.5MPa(15 kgf/cm?)
a M ofloj=d
KA BEMEZ

2| Y ABRA 2= 5~ 60°C (41~ 140°F)

2 2 232 (29A1S0 VG32#)

FEXIX| FA 712Y, FEY, SUXY, EL Y
SRR/ 2 B4E
Az BEYE AEHARS
FEXIX| A FREHE SEMEHHE SHIASE | 1A HERE | 2M LZRCIE NS HERX
7 |E% 0 0 - O 0 0 0
SR IEYH 0 o) - 0 0 0 0
Z2EZ SHXA 0 0 - 0 o) 0 0
Sl=Z SHRY 0 0 - 0 0 0 0
EdfL|oid 0 0 - 0 0 0 0
& LEARX| A
HEARYS AQIR| FH HiM(E) S 2|EMZO| Hapl S HEHst
@40 &2l
AlE|H Ao
050 ZEiH DA% M) I 1 M prees .
P D-A94X piAloe) | DCBV~AC230V = =320]
D—AYAX-N 3MAI=FE) (F=™:DC24V) L& = M ARA
@80 Alzig D-AAX—P -hTEs :
D-CB-12
3100 A2

www.ypc.co.kr 125



>

ek RN {
Eer- iy i &
E 1

* THRE

d= REg R i}

1 EE7H L20]E COHAE HEE =3
2 7= 220E BiF Y L=0j0|E
g mas 22 B4y yd3g =3
4 OAE A20|E CIO|FHAE

5 ofas RUBBER

6 DU &4

7 FHLUS EtaZ HHAH O} =2
8 Efo12= e U OfH =3
9 AET Elaz UHA Oft =3
10 ol2o] oM 2t

1 El0|2E LE QU HHAY Of01 =2
12 of & POM

13 FHHZ g

14 2E NBR

15 mAE 1 NBR

16 FHEE 1Y NBR

17 FE A NBR

18 LAE 7tA% NBR

19 EEMEHE LA A O}t =5
20 REHi EE EAZTY

126 YPC




59 nojazn s5: 92 YCMW

Cal F._G G _F

%
¥
oE
)
= [
| |
| |
| |
L
|
|
E T

: AL AL
B1 A K N N K A
oC H StAERT HrAE2S
oB ZZH2AERT
WX K3t U= WQx Ba
L] = o
o [ o ] o
o L [ g _ _ 1 I “Z +
| [ [ ] [
OJ - J
il _ = - N
AL AL
9.0 ) f A K| 9.0 0 | f N N f ] 9.0] |K A
ht0 ht 0 SHAE23 H+ 0 +34
ZZ+ 0 +2AE2T ZZ42 0 +2AE23
suug | “SEREH A | AL 0B B1 [oC| D | E|F |G |HI| U K| ka| mm | N|P
240 30 | 27 |60 | 22 | 44 | 16 | 32 | 10 [145| 8 | M8 x 125 | 6 | 14 |M14x 15| 26 | 1/4
250 35|32 |70 |27 |52 | 20 | 40 | 10 [17.5| 11 | M8 x 125 | 7 | 18 |M18 x 15| 29 | 3/8
263 ~1000 | 35|32 |83 |27 64|20 |40 | 10| 19| 11 |M8x125| 7 | 18 |[MI8 x 1.5|315|3/8
280 40 |37 [102] 32 | 78 | 25 | 52 | 14 | 22 | 13 [M12 x 1.75| 10 | 22 |M22 x 1.5|36.5| 1/2
2100 40 | 37 [116] 41 | 92 | 30 | 52 | 14 | 26 | 16 |M12 x 1.75| 10 | 26 |M26 x 1.5|41.5| 1/2
ECETES W2OX B (¥2)
EH||Z
ReHd) S STz [ e [ h ] zZ | L7
240 | 84 | 51 | 186 | 43 | 112 | 59 | 1/4 AER3 | 194 | 202
@50 | 90 | 58 | 206 | 52 | 112 | 66 | 1/AAER3 | 214 | 222
?63 | 98 | 58 | 214 | 52 | 112 | 66 | 1/4AER3 | 222 | 230
280 | 116 | 71 | 258 | 65 | 125 | 80 | 1/4 AER3 | 267 | 276
2100 | 126 | 72 | 270 | 65 | 14 | 81 | 1/4 AER3 | 279 | 288

www.ypc.co.kr 127



¢ 220 X

> TR ARIT| (YCMW ST)
YCMW B84 | (EHUZ |- [AER3 || 715 || ST25 |

AED

ST25:
ST50:

@b

i

77+2 8+ 25 (A:25, B:50)

@40 | @32| 22 46 | 181
250 28 55 | 203
338
263 28 55 | 21
280 | @45| 35 70 | 257

2100 | @55| 35 72 | 268

> JHAHST M2IC] (YCMW SR)
YCMW (B3| (REUZE|-[AER3 |- [ 7|5 || SRS |

SR25:
SR50:

ZZ+8E

B
0%

et

FEHUZE| MM b d | zz

240 | M16x1.5 | 9 43 | 178
@50 | M16x1.5 | 11 44 | 192
@63 | M20x1.5 | 11 48 | 204
280 | M24x15 | 15 | 59 | 246
2100 | M24x1.5 | 15 | 57 | 255

128 YPC



59 nojazn s5: 92 YCMW

HA O3 |A
& 25 SR
> EgL| g
TE
ZH1 2 AERT 10 X 10
- _r
COTE——
J,J m
\ \ —
B —- |
- | —ﬂ
| [ E— 5 u
I =
[T] E]
o
U T TU
TA
EHIjA | EH | TA|TL|[TU|TC|TX|TE|TO|TR|TT | TS |TH | TY | TF | Z |TD-HI0
040 | oo p| 8O | 60 | 10 | 102| 85 | 19| 17 | 9 | 17 | 12 | 45 | 62 | 60 | 93 155207
250 80 | 60 | 10 [112] 05 [ 129 17 | 9 | 17 | 12| 45| 74 | 60 | 103|155
@63 | YCMB3-TP| 100 | 70 | 15 | 130 | 110 | 150 | 22 | 11 | 22 | 14 | 55 | 90 | 73 | 107 | 185"
080 | iiooutpl 120 90 | 16 | 166 | 140 | 192 | 24 | 135 | 24 | 17 | 75 | 110 | 100 | 129 25,0
2100 120 | 90 | 15 | 188 | 162 | 214 | 24 [135] 24 | 17 | 75 | 130 [ 100 | 135 | 255°*
aac| o o
> ECELHAE > LEXQIEE &, SH|AE T
d
2-pd 2|
[s]
[S]
D - 1
im| 0
B L
MNEd

EHLyZ = Z o Bstm)|
EHUZ = d H|B|C|D B oo qg (DO | L[t m|d| &
@40 | YCMAO-NT | M14x15 | 8 | 22 | 254 21 CDP-2 40 - 1000 | 45 | 37 | 4 | 3 | 3x18
250 CDP-3 50 40,5063 12700 | 54 | 46 | 4 | 3 | 3x18

YCMB3-NT | M18x15 | 11 | 27 |312| 26 —
263 CDP-4 63 - 165 |70 |60 | 5 | 4 | 4axe4
@80 | YCMBO-NT | M22x 15 | 13 | 32 |37.0| 31 CDP-5 - 80 |18%% | 76 | 66 | 5 | 4 | 4x25
@100 |YCM100-NT| M26x 15 | 16 | 41 | 47.3| 39 CDP-6 80 100 |209% |82 | 72| 5 | 4 | 4x36
coP—7 | 100 - |53 |88 |78 | 5 | 4| axss
PNDTYH105 d9
= &
> 14 S XPIE > 2M EEQIE o
@NDH10
A
MM /A(B ]
= NG =S g - - EE
|
+ = [ [ ]
— $ =/ &
A1 ut NX Al ut
L1 L1
A y‘\\

S5z Z#H | A [A1|E1|L1| MM |[R1|UT|[NDuo| NX EHIjZE =W (A1[E1|L1| MM [RRI[UT|ND | NX [NZ| L |22
240 | YOM4O- | 69 | 22 | 24 | 55 [M14 x 1.5[15.5] 20 [125°7°| 1631 @40 | YOM40-Y | 22 |24 | 55 M14x 1.5] 13 | 25 | 12 [16104] 38| 54 |3 x 18
050 |\ oy | 741272860 M18 x 15155 20 1281160 050 | | ooy |27 2860 M18x 15|15 |27 | 12 16104 38| 54 [3x 18
263 74| 27|28 | 60 |M18 x 1.5/15.5 20 [12°°°[16703 263 27| 28|60 [M18x 15[ 15|27 | 12 [16153| 38| 54 | 3x 18
@80 |YCM8O-I| 91 (37 |36 | 71 |M22 x 1.5[22.5| 26 |18;°°°|28 20} @80 | YCMBO-Y |37 |36 71 |M22 x 1.5/ 19 | 28| 18 |28104| 55| 76 | 4x 25
@100 [YCM100-1|105| 37 | 40 | 83 [M26 x 1.5[24.5) 28 |205>* 3053 @100 |YCM100-Y |37 40 | 83 |M26 x 1.5| 21 | 38 | 20 [30704| 61| 82 [ 4x 36

www.ypc.co.kr 129





